

Resuelve las sumas:

$$\begin{array}{c} \text{frog} \end{array} + \begin{array}{c} \text{frog} \end{array} + \begin{array}{c} \text{frog} \end{array} = \boxed{}$$

$$\begin{array}{c} \text{gecko} \end{array} + \begin{array}{c} \text{gecko} \end{array} = \boxed{}$$

$$\begin{array}{c} \text{frog} \\ \text{frog} \\ \text{frog} \end{array} + \begin{array}{c} \text{frog} \end{array} = \boxed{}$$

$$\begin{array}{c} \text{frog} \\ \text{frog} \end{array} + \begin{array}{c} \text{frog} \\ \text{frog} \end{array} = \boxed{}$$

$$\begin{array}{c} \text{frog} \\ \text{frog} \end{array} + \begin{array}{c} \text{frog} \\ \text{frog} \\ \text{frog} \end{array} = \boxed{}$$